Logarithmic Sobolev and interpolation inequalities on the sphere
: stability results
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Section 2: Coefficients
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Improved Bakry-Emery estimates
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Section 4

Series expansions
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Global stability constant

p(p-1)
- apd = —— 3
2d
1 3(d+1)
bpd = —p (p-1) (p-2) (p-3) ——;
24 d? (d +3)
-2 -3 d+1
S-imph'fy[bpd-(p ) (P-3) oa 9* ]
4 d (d+3)
outf-]= @
dp-1 ’ -1 d d+2
- Simplify| (p-1) L G1ep dep) de |
Vd (d+1) (d+3) 2d (3+d) 2 (d+1)

(d(-2+p)-2p) (-1+p)
d (3+d)

Outf+]=

n - Solve[B* -4 (A-x) (C-x) =0, x|

Outf+]= {{Xe i (A+C—\/A2+Bz—2AC+C2 ]}, {Xe i (A+C+\/A2+Bz—2AC+C2 J}}




8 | BDS2022-Sphere.nb

Appendix B: Carré du champ, range
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